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On the banks of a river, surveyors marked locations A, B, and C.  The measure of [image: image1.png]ZACHE = T70°



 and the measure of [image: image2.png]ZABC = 65°



.

[image: image3.png]



Which expression shows the relationship between the lengths of the sides of this triangle?

1) [image: image4.png]AB < BC < AC



   2) [image: image5.png]BC < AB < AC



   3) [image: image6.png]BC <« AC < AB



   4) [image: image7.png]AC < AB < BC





2
As shown in the diagram below of [image: image8.png]MABC



, [image: image9.png]BC



 is extended through D, [image: image10.png]


, and [image: image11.png]msACD =115



.

[image: image12.png]115°
C




Which statement is true?

1) [image: image13.png]AC > AB



   2) [image: image14.png]AB » BC



   3) [image: image15.png]BC < AC



   4) [image: image16.png]AC < AB





3
As shown in the diagram of [image: image17.png]MACD



 below, B is a point on [image: image18.png]AC



  and [image: image19.png]DE



 is drawn.

[image: image20.png]



If [image: image21.png]


, [image: image22.png]ms DB =18



, and [image: image23.png]


, what is the longest side of [image: image24.png]MABD



?

1) [image: image25.png]AB



   2) [image: image26.png]Do



   3) [image: image27.png]AD



   4) [image: image28.png]BD





4
In the diagram of quadrilateral NAVY below, [image: image29.png]ms YA = 30°



, [image: image30.png]ms VAN = 38°



, [image: image31.png]msAVY = 94°



, and [image: image32.png]msVAY = 46°



.

[image: image33.png]30°




  

Which segment has the shortest length?

1) [image: image34.png]AY



   2) [image: image35.png]NY



   3) [image: image36.png]VA



   4) [image: image37.png]




5
In [image: image38.png]MABC



, [image: image39.png]msB <msld < mslC



.  Which statement is false?

1) [image: image40.png]AC > BC



   2) [image: image41.png]BC > AC



   3) [image: image42.png]AC < AB



   4) [image: image43.png]BC < AB
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In [image: image44.png]MABC



, [image: image45.png]


, [image: image46.png]


, and [image: image47.png]


.  Which inequality is true?

1) [image: image48.png]AB » BC



   2) [image: image49.png]AC > BC



   3) [image: image50.png]AC < BA



   4) [image: image51.png]BC < BA
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In [image: image52.png]MABC



, [image: image53.png]


, [image: image54.png]


, and [image: image55.png]


.  Which expression correctly relates the lengths of the sides of this triangle?

1) [image: image56.png]AB <« BC < C4



   2) [image: image57.png]AB < AC < BC



   3) [image: image58.png]AC <« BC' < AR



   4) [image: image59.png]BC <« AC < AB
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In [image: image60.png]


, [image: image61.png]


 and [image: image62.png]


.  Which inequality is true?

1) [image: image63.png]RT < TS < RS



   2) [image: image64.png]RS<RT <TS



   3) [image: image65.png]RT<RS <TS



   4) [image: image66.png]RS < TS <RT
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In scalene triangle ABC, [image: image67.png]


 and [image: image68.png]


.  What is the order of the sides in length, from longest to shortest?

1) [image: image69.png]AB



, [image: image70.png]BC



, [image: image71.png]AC



   2) [image: image72.png]BC



, [image: image73.png]AC



, [image: image74.png]AB



   3) [image: image75.png]AC



, [image: image76.png]BC



, [image: image77.png]AB



   4) [image: image78.png]BC



, [image: image79.png]AB



, [image: image80.png]AC
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In [image: image81.png]MABC



, [image: image82.png]


 and [image: image83.png]


 is greater than [image: image84.png]


.  The lengths of the sides of [image: image85.png]MABC



 in order from smallest to largest are

1) [image: image86.png]AB



, [image: image87.png]BC



, [image: image88.png]AC



   2) [image: image89.png]BC



, [image: image90.png]AB



, [image: image91.png]AC



   3) [image: image92.png]AC



, [image: image93.png]BC



, [image: image94.png]AB



   4) [image: image95.png]AB



, [image: image96.png]AC



, [image: image97.png]BC





11
For which measures of the sides of [image: image98.png]MABC



 is angle B the largest angle of the triangle?

1) [image: image99.png]


   2) [image: image100.png]


   3) [image: image101.png]6, BC'= 9, At




   4) [image: image102.png]8, BC=14 AC=5
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In [image: image103.png]MABC



, side [image: image104.png]BC



 is extended through C to D.  If [image: image105.png]


 and [image: image106.png]msACD = 110°



, what is the longest side of [image: image107.png]MABC



?

1) [image: image108.png]AC



   2) [image: image109.png]BC



   3) [image: image110.png]AB



   4) [image: image111.png]oD
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In [image: image112.png]MNCAT



, [image: image113.png]


, [image: image114.png]


, and B is a point on side [image: image115.png]cA



, such that [image: image116.png]TE 1 CA



.  Which line segment is shortest?

1) [image: image117.png]


   2) [image: image118.png]BC



   3) [image: image119.png]TB



   4) [image: image120.png]AT
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In [image: image121.png]MABC



, [image: image122.png]


 and [image: image123.png]pao;



 is an obtuse angle.  Which statement is true?

1) [image: image124.png]


 and [image: image125.png]BC



 is the longest side.   2) [image: image126.png]


 and [image: image127.png]AB



 is the longest side.   3) [image: image128.png]


 and [image: image129.png]BC



 is the shortest side.   4) [image: image130.png]


 and [image: image131.png]AB



 is the shortest side.
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In [image: image132.png]MABC



, [image: image133.png]


, [image: image134.png]


, and [image: image135.png]


.  Which list has the angles of [image: image136.png]MABC



 in order from smallest to largest?

1) [image: image137.png]LA, LB LC



   2) [image: image138.png]LB LA LC



   3) [image: image139.png]LC LB, LA



   4) [image: image140.png]LC LA LB
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In [image: image141.png]


, [image: image142.png]PO =



, [image: image143.png]12



, and [image: image144.png]


.  Which statement about the angles of [image: image145.png]


 must be true?

1) [image: image146.png]ms 0 > ml P e mAR



   2) [image: image147.png]ms 0 > ml R > mA P



   3) [image: image148.png]mAR > s P > ml O



   4) [image: image149.png]msP > s R > ml O
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In [image: image150.png]MABC



, [image: image151.png]


, [image: image152.png]


, and [image: image153.png]10



.  Which statement is true?

1) [image: image154.png]msB >mslC > mlA



   2) [image: image155.png]msE > msld > msl



   3) [image: image156.png]ms O > msB > mlA



   4) [image: image157.png]ms O > mlA > mlB
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In the diagram below of [image: image158.png]MABC



 with side [image: image159.png]AC



 extended through D, [image: image160.png]


 and [image: image161.png]msBCD =117



.  Which side of [image: image162.png]MABC



 is the longest side?  Justify your answer.

[image: image163.png]17°

(Not drawn to scale)
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As shown in the diagram below, [image: image164.png]A5



 is a diagonal of trapezoid STAR, [image: image165.png]RA || 5T



, [image: image166.png]


, [image: image167.png]msRSA = 47



, and [image: image168.png]msARS = 68



.

[image: image169.png]68°

475

48°




Determine and state the longest side of [image: image170.png]ASAT



.
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In [image: image171.png]MABC



, [image: image172.png]


, [image: image173.png]1x+5



, and [image: image174.png]3x-17



.  Determine the longest side of [image: image175.png]MABC



.

1
ANS:
3

If [image: image176.png]ZACHE = T70°



 and [image: image177.png]ZABC = 65°



 then [image: image178.png]ZCAB = 45°



 because [image: image179.png]70+ 65+ 45 =180,



  The longest side is opposite the largest angle and the shortest side is opposite the smallest angle.  BC < AC < AB
REF:
060629a

2
ANS:
4
REF:
011607ge

3
ANS:
1

[image: image180.png]



REF:
081219ge

4
ANS:
3

[image: image181.png]


 is the smallest angle in [image: image182.png]ANYA



, so side [image: image183.png]AY



 is the shortest side of [image: image184.png]ANYA



.  [image: image185.png]Z VYA



 is the smallest angle in [image: image186.png]


, so side [image: image187.png]VA



 is the shortest side of both triangles.
REF:
011919geo

5
ANS:
1
REF:
081524ge

6
ANS:
2
REF:
061321ge

7
ANS:
2

Longest side of a triangle is opposite the largest angle.  Shortest side is opposite the smallest angle.
REF:
060911ge

8
ANS:
4
REF:
011222ge

9
ANS:
4

[image: image188.png]



REF:
011115ge

10
ANS:
1
REF:
061523ge

11
ANS:
1
REF:
011416ge

12
ANS:
1

[image: image189.png]



REF:
082310geo

13
ANS:
2

[image: image190.png]



REF:
081422ge

14
ANS:
2
REF:
081306ge

15
ANS:
4

Longest side of a triangle is opposite the largest angle.  Shortest side is opposite the smallest angle.
REF:
081011ge

16
ANS:
1
REF:
061010ge

17
ANS:
2
REF:
011510ge

18
ANS:


[image: image191.png]AC



.  [image: image192.png]ms/BCA = 63



 and [image: image193.png]msABC = 80



.  [image: image194.png]AC



 is the longest side as it is opposite the largest angle.
REF:
080934ge

19
ANS:


[image: image195.png]5T



  [image: image196.png]



REF:
061430ge

20
ANS:


[image: image197.png]X+ 12+ 1x+ 5+ 132~ 17= 180

2+ 24x- 180 =10
(x+30)x-6)=0




.  [image: image198.png]mZA = 67 +12=48
LB = 11(6)+ 5= 71
m/C = 13(6)- 7 = 61




.  [image: image199.png]/B



 is the largest angle, so [image: image200.png]AC



 in the longest side.
REF:
011337ge

